SN ZAERLLRA
I AN COPls NS#E s
Ol EQ BOAE B (S5 &2)
S HH - S(BH) - HEAY - BE=2 Off &+ o4 J) &let HRZ2
ANEDG SN 1,016,969 875,969 141,000
= 6,000 6,000 0
Al 1,010,969 869,969 141,000
AIRIOIH CHObobe Rgsts el 939,273 798,273 141,000
= 6,000 6,000 0
Al 933,273 792,273 141,000
= EHoAE B2 831,617 689,617 142,000
= 6,000 6,000 0
Al 825,617 683,617 142,000
NEEEERES 409,210 267,210 142,000
201 Lur2 | 278,597 206,597 72,000
01 AtR2elt] 278,077 206,077 72,000
IR = 72,000 0 72,000
O +CAXY SYAXHBE 22 6,000,0008 * 122 72,000 0 72,000
401 AIEHIL ST 70,000 0 70,000
04 Al 70,000 0 70,000
O OXE &K GEUX &3 70,000,000 * 14! 70,000 0 70,000
ZQULRAN 4 Bt 39,047 40,047 A1,000
AR DO AsE =X 0 1,000 A1,000
201 Lur2 | 0 1,000 A1,000
01 AtR2elt] 0 1,000 1,000
42844 0 1,000 A1,000
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